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Activity 1 – The Lever


Question[image: https://lh5.googleusercontent.com/Cvpgh-1O0O80ApzFpOk9dFPtxlU77mzSkUrj_OvTg3XwnzbeafIaImTmHc5Zbc29X441KOAPdf9ZTHd5AucNzqYUrcZMz_xPX3WYplkuRZQPTCwMzh0evLMCckREyy3E28SlX4ZM]
Do you think it’s possible to lift a cup full of water with a dime [image: https://lh3.googleusercontent.com/CYAycOoVaMNeozxQjqy0LSXvdGVJULiGXtbMoEoIg-cxU3uTRiFODCvJh4kOtc9t_6dKiUFgDwYQCKZhioPIWAsMCygKUsPbj9uHTRcWv170t6024cgdZK_Lqi9KCRRrJCkKxuA7]         ?



HYPOTHESIS
(Yes, No ) ____ I think… __________________________________ ______________________________________________________________________________________________________________________________________
because…______________________________________________________________ _______________________________________________________________________________



Watch your teacher’s demonstration. 
What do you think?

I think…

Because…













Activity 2 - Balance
	Question[image: https://lh5.googleusercontent.com/Cvpgh-1O0O80ApzFpOk9dFPtxlU77mzSkUrj_OvTg3XwnzbeafIaImTmHc5Zbc29X441KOAPdf9ZTHd5AucNzqYUrcZMz_xPX3WYplkuRZQPTCwMzh0evLMCckREyy3E28SlX4ZM]
Where should two identical loads be placed to get a balanced lever?



	

	Hypothesis

I think… __________________________________ ______________________________________________________________________________________________________________________________________
because…______________________________________________________________ _______________________________________________________________________________
	



Material
-Sugar packets [image: https://docs.google.com/drawings/d/smm6L4Iw-qlBD9NCyGDehjw/image?w=51&h=41&rev=1&ac=1][image: https://docs.google.com/drawings/d/s3uK6iUN8SjqMlGI3U9DuYw/image?w=51&h=41&rev=1&ac=1]
-Rigid ruler [image: https://lh6.googleusercontent.com/Jw328CSrdgvHR0eDixqnmY6l8_FWaEVhW3lBN99E_vMzmR8FFfTHb9MPaOX2aWexVE9iA5M7mzUlqh3b6tW3H4wUwujoKrywt7qgiwxxuqMB-bktE9qvivtDgrQSEYqmZnclHNzP]

- Pivot point  (bulldog clip, metal clips removed) [image: https://docs.google.com/drawings/d/s5wTeyVTlhjHrQFsp1bNcOQ/image?w=29&h=30&rev=30&ac=1]


Draw your observations in the diagram. 


[image: https://docs.google.com/drawings/d/s7AOZ5L9RPCFuZR25Cbua0A/image?w=297&h=41&rev=25&ac=1]








Activity 3 – Regaining Balance

Question [image: https://lh5.googleusercontent.com/Cvpgh-1O0O80ApzFpOk9dFPtxlU77mzSkUrj_OvTg3XwnzbeafIaImTmHc5Zbc29X441KOAPdf9ZTHd5AucNzqYUrcZMz_xPX3WYplkuRZQPTCwMzh0evLMCckREyy3E28SlX4ZM]
Where should two different loads be placed to see a balanced lever?

Hypothesis
I think…
______________________________________________________________________________________________________________________________________________
because…
______________________________________________________________________________________________________________________________________________


Material

-Sugar packets[image: https://docs.google.com/drawings/d/sb6c8ybH3fHTNzRjZPZ_q4A/image?w=51&h=41&rev=1&ac=1][image: https://docs.google.com/drawings/d/sfPKtuAJmbQRVnklbvQwj2g/image?w=51&h=41&rev=1&ac=1][image: https://docs.google.com/drawings/d/srYBlRYQXmrSKuPjpz_IX4w/image?w=51&h=41&rev=1&ac=1]
-Rigid ruler [image: https://lh6.googleusercontent.com/Jw328CSrdgvHR0eDixqnmY6l8_FWaEVhW3lBN99E_vMzmR8FFfTHb9MPaOX2aWexVE9iA5M7mzUlqh3b6tW3H4wUwujoKrywt7qgiwxxuqMB-bktE9qvivtDgrQSEYqmZnclHNzP]

Fulcrum (bulldog clip, metal clips removed) [image: https://docs.google.com/drawings/d/sp_WHsQfh7_ujmZUakBnB8Q/image?w=29&h=30&rev=1&ac=1]

---------------------------------------------------------------------------------------------------------------------

Draw your observations in the diagram. 

[image: https://docs.google.com/drawings/d/sYemolHUv7gVNINj9Owb6AA/image?w=297&h=41&rev=1&ac=1]


What is the distance between the group of sugar packets and the pivot point?
______________________________________________________________________________

What is the distance between the single sugar packet and the pivot point?
___________________________________________________________________________
[bookmark: _GoBack]What do you observe?
______________________________________________________________________________


Activity 4 – The Pivot Point’s Role

Question
According to you, which of the following systems will require a bigger force to lift the same load? [image: https://lh5.googleusercontent.com/Cvpgh-1O0O80ApzFpOk9dFPtxlU77mzSkUrj_OvTg3XwnzbeafIaImTmHc5Zbc29X441KOAPdf9ZTHd5AucNzqYUrcZMz_xPX3WYplkuRZQPTCwMzh0evLMCckREyy3E28SlX4ZM] 
[image: https://docs.google.com/drawings/d/sOPExcMJkaFOB5A7lTaQMHg/image?w=213&h=136&rev=51&ac=1]
[image: https://docs.google.com/drawings/d/s4qApH5DYE1a9QO-yl8Cpiw/image?w=220&h=124&rev=105&ac=1][image: https://docs.google.com/drawings/d/sRZgTLpK95GUnoj15ydcJFQ/image?w=220&h=153&rev=9&ac=1]System 3
System 2
System 1



(dans la version française, le mot « charge » n’apparait pas dans les trois images ci-dessus; à ne pas mettre dans la version anglaise non plus). 



Force = the number of sugar packet(s) to lift the load
Load = two sugar packets

Hypothesis
Circle the system that represents your hypothesis.
I think it’s this system because…
________________________________________________________________________________________________

Materiel
(possible d’écrire “sugar” sur les images?) 
-Sugar packets (8): [image: https://docs.google.com/drawings/d/sghQVXHKWHFOOm21i4qlvTw/image?w=51&h=41&rev=1&ac=1][image: https://docs.google.com/drawings/d/sM2yZBXXuYmSBhmrEQt-vUg/image?w=51&h=41&rev=1&ac=1][image: https://docs.google.com/drawings/d/s1AtA8Mhdh0KyW9_GEg9VbQ/image?w=51&h=41&rev=1&ac=1]
- Rigid ruler [image: https://lh6.googleusercontent.com/Jw328CSrdgvHR0eDixqnmY6l8_FWaEVhW3lBN99E_vMzmR8FFfTHb9MPaOX2aWexVE9iA5M7mzUlqh3b6tW3H4wUwujoKrywt7qgiwxxuqMB-bktE9qvivtDgrQSEYqmZnclHNzP]

Pivot point (bulldog clip, metal clips removed) [image: https://docs.google.com/drawings/d/s3ud5rtwjTJRbXj2ED0ZZog/image?w=29&h=30&rev=1&ac=1]


Activity 4 – The Pivot Point’s Role
(continued) 

Observations
Write the number of sugar packets necessary to lift the load in each box. 

[image: https://docs.google.com/drawings/d/stv9zVzEHsnYAr_ZwnDIJ3g/image?w=213&h=109&rev=4&ac=1]
[image: https://docs.google.com/drawings/d/sJDA7EcE3LXlCiseVNIGr7g/image?w=220&h=123&rev=3&ac=1][image: https://docs.google.com/drawings/d/sUi7YGm-JU6uoRt9pQOkMqQ/image?w=220&h=116&rev=4&ac=1]System 3
System 2
System 1



(dans la version française, le mot « charge » n’apparait pas dans les trois images ci-dessus; à supprimer). 

Integration

Archimedes used to say:
«Give me a lever long enough and a fulcrum* on which to place it, and I shall move the world.»

What do you think of this statement? Use your knowledge about levers to answer. 
________________________________________________________________________________________________________________________________________________

*Fulcrum = pivot point 
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